S—

6,3%6.752 km

6,378.137 km

area of Earth

ro — rs9

+ 1 mm

p



26,857.805,126,482,94 km

18,991.336,132,722,91 km

r (gamma)
0-59

cAR T H

equatorial radius : 6,378.137 km
polar radius : 6,356.752 km

calculated area : 510,065,604.944,206,06 km?

rectangle with an area equal to Earth and a ratio of 1:V2
width : 18,991.336,132,722,91 km

height : 26,857.805,126,482,94 km

This series is printed in the format a53 (200 x 282 mm),
the first format that can be affixed on an A4 format.

Earth & Gala = lala > T



18,991,336,132 mm

[6

r8

ro

r2
rie

[/
M4
[ 5
¢
N/

—

18,991,336,132 x 26,857,805,126 mm
1 per 10
=~0.029 km2 lost due to rounding

[0 = gamma zero



r1 -
ro
ri1e
13,428,902,563 mm [/
|_ 5 -
— | A
=
00]
O
O
=
©
(@]
=
w
No
L | 3
3

13,428,902,563 x 18,991,336,132 mm
2 per 10
=~0.029 km2 lost due to rounding

'l == gamma one



9,495,66[8,066 mm

[ 6

[3

rio

4
ri2

(e

9

[/

)
[ Z
3

9,495,668,066 x 13,428,902,563 mm
4 per 10
=~0.029 km2 lost due to rounding

2 == gamma two

ww €96°‘z06°‘8cy ‘€T



6,714,451,281 mm

[/

9

ri1

r1s
ri3

12

10

3

2
|
/i

6,714,451,281 = 9,495,668,066 mm
8 per 10
~0.067 km2 lost due to rounding

3 == gamma three

ww 990899 ‘S6% ‘6



4,747 ,834,033 mm

[ 3

10

ri2

r16
14

3

M1

[9

(/

4,747,834,033 x 6,714,451,281 mm
16 per 10
~0.067 km2 lost due to rounding

4 == gamma four

ww 18T TSy ‘1,9



3,357,22/5,640 mm

r17
ris

M3
r14

11

12

10

L,
9
0

3,357,225,640 x 4,747 ,834,033 mm
32 per 10
~0Q.143 km2 lost due to rounding

5 == gamma five

W €€Q‘Yc8 /Ly Y



2,373,917,016 mm

10

[12

M4

r1s
rie

15

13

11

=
—O
/

2,373,917,016 x 3,357,225,640 mm
64 per 10
=~0Q.25 km2 lost due to rounding

6 == gamma Six

ww @+¥9‘glcelsee



1,678,612,820 mm

[11

13

15

r1s
riz

e

14

[12

1,678,612,820 x 2,373,917,016 mm

128 per 10

=~0Q.25 km2 lost due to rounding

r7

== gamma seven

ww 9TQ‘/I6‘clLE T



1,186,958,508 mm

[12

[14

rie

r20
ris

17

15

13

(2
O
9

1,186,958,508 x 1,678,612,820 mm
256 per [0
=~0Q.25 km2 lost due to rounding

8 == gamma eight

ww @zg‘qdro‘s/o‘t



839,306(,410 mm

13

15

ri7

r21
rio

18

16

14

10

839,306,410 x 1,186,958,508 mm
512 per T0
=~0Q.25 km2 lost due to rounding

9 == gamma nine

ww 80G5‘g56‘98T ‘T



r22
r2e

s
rio

593,479,254 mm [16

17

14
15

[12

L
\
G2

—

593,479,254 x 839,306,410 mm
1,024 per T0
=~0Q.25 km2 lost due to rounding

'@ == gamma ten



r23
r21

1o
r2o

419,653,205 mm 17/

18

[15
16

13

ww #5z'l6LY €65

419,653,205 x 593,479,254 mm
2,048 per 10
=~0Q.25 km2 lost due to rounding

11 == gamma eleven



r2
r22

r20
ra21

296,739,627 mm [18
19

[16
17

[ 14

ww SQz'lEs9‘eTYy

:
)
via

3

296,739,627 x 419,653,205 mm
4,096 per 0
=~0Q.25 km2 lost due to rounding

12 == gamma twelve



r2s
r23

r21
r22

209,826(,602 mm [19

[20

17
18

15

ww /£z9'l6EL‘96C

r
2

_ )
/i

209,826,602 x 296,739,627 mm
8,192 per 10
=~1.465 km2 lost due to rounding

13 == gamma thirteen



r26
24

22
r23

148,369),813 mm [ 20

21

18
19

[ 16

| 4_

[ )

ww ¢e9‘lvzs ‘60t

148,369,813 x 209,826,602 mm
16,384 per 10
=~3.184 km2 lost due to rounding

14 == gamma fourteen



r2s 727
23
M4

104,913,301 mm [21

[22

19
20

1/

ww €T18°69€ ‘87T

| FE
)

104,913,301 x 148,369,813 mm
32,768 per 10
=~3.184 km2 lost due to rounding

15 == gamma fifteen



r2s
r26

24
r2s

74,184 906 mm [ 22
[23

[20
r21

| rﬁ

ww TREET6‘v0T

\J
7

16 == gamma sixteen

74,184,906 x 104,913,301 mm
65,536 per 10
~6.622 km2 lost due to rounding



r29
r27

25
r26

52,456 650 mm [ 23

[24

[21
[22

19

| 4_

ww 996|481 ‘%/

13

52,456,650 x 74,184,906 mm
131,072 per T0
=~11.484 km? lost due to rounding

17 == gamma seventeen



r30
r2g

26
ra27

37,092|453 mm [ 24
[25

[22
23

[ 20

ww @G9195% ‘¢S

— QI_}
W)

37,092,453 x 52,456,650 mm
262,144 per TO
=~11.484 km? lost due to rounding

18 == gamma eighteen



31
r29

r27
r2s

26,228/325 mm [ 25

[26

[[23
24

L
\
OR

26,228,325 x 37,092,453 mm
524,288 per 10
=~11.484 km? lost due to rounding

19 == gamma nineteen



r32
r3e

28
r29

18,546)226 mm [ 26

[27

24
[25

[ 22

L
)
SS'v

—

18,546,226 x 26,228,325 mm
1,048,576 per 10
=25.235 km? lost due to rounding

20 == gamma twenty



r33
r31

29
r3o

13,114)162 mm [ D7/

[28

[25
26

[ 23

ww 9zzi9vs ‘st

[ 22

13,114,162 = 18,546,226 mm
2,097,152 per 10
=~ 44,682 km? lost due to rounding

21 == gamma twenty-one



r34
r32

r30
r31

9,273,[113 mm [ 28
29

[206
[27

[ 24

ww ¢oTi{vIT‘ET

:
)

Z
3

9,273,113 x 13,114,162 mm
4,194,304 per 10O
=~ 44,682 km? lost due to rounding

22 == gamma twenty-two



r3s
r33

r31
r32

6,557,081 mm [ 20
30

[27
28

[ 25

ww €TIl‘ss'6

r

2

_ )
/i

6,557,081 x 9,273,113 mm
8,388,608 per 10
=~ 44,682 km? lost due to rounding

23 == gamma twenty-three



-
34

32
r3s

4,636,556 mm [ 30
31

[238
29

[ 20
27

 ~
N
ww teel‘/559

[ 25

4,636,556 x 6,557,081 mm
16,777,216 per 10
=~99.,687 km? lost due to rounding

24 == gamma twenty-four



r37
I35

33
34

3,278,[540 mm [ 31
[32

[29
30

[ 2/

ww 95¢6l‘o9c9‘y

r

L,

23
0

3,278,540 x 4,636,556 mm
33,554,432 per T0
=177.475 km? lost due to rounding

25 == gamma twenty-five



r38
36

34
r3s

2,318,p78 mm 32
33

30
31

[ 28

ww @vgl‘sscs

@y

~

2,318,278 x 3,278,540 mm
67,108,864 per 10
=177.475 km? lost due to rounding

26 == gamma twenty-six



r39
r37

35
r3e

1,639,270 mm [ 33

34

31
32

29
A

ww g/¢7‘ste‘e

[ 23

1,639,270 x 2,318,278 mm
134,217,728 per 10
=177.475 km? lost due to rounding

27 == gamma twenty-seven



ruo
r3s

36
r37

1,159,[139 mm [ 34
35

[ 32
33

[ 30

ww @/7‘6€9‘t

3

(2

_ )
9

1,159,139 x 1,639,270 mm
268,435,456 per 10
=177.475 km? lost due to rounding

28 == gamma twenty-eight



-
39

37
r3s

819,635 mm [ 35
[36

33
34

[ 31

ww 6€T|‘6GT T

819,635 x 1,159,139 mm
536,870,912 per 10
=177.475 km? lost due to rounding

29 == gamma twenty-nine



[ 32

]

579,569 mm

&:

38

r4o
re1

39

[36

37

[ 34

35

[]

N

579,569 x 819,635 mm
1,073,741,824 per T0

-)
3

=~617.514 km? lost due to rounding

30

gamma t

GG

—

hirty

ww S€9‘618



409,817 mm

[ 35

[37

39

.
ra1

r40

38

36

[ 32

409,817 x 579,569 mm
2,147,483,648 per 10
=1,239.821 km? lost due to rounding

31 == gamma thirty-one

ww 696 ‘6.5



r42

40
r41

289, 7[84 mm [ 38
39

[ 36
[37

™

ww /T8 60%

:
)
via

3

289,784 x 409,817 mm
4,294,967,296 per 10
=2,119.896 km? lost due to rounding

32 == gamma thirty-two



r43

F41
r42

204,908 mm [ 39

40

[ 37
38

™

ww %8|/ ‘68¢

r
2
)

/i

204,908 x 289,784 mm
8,589,934,592 per 10
=3,364.509 km? lost due to rounding

33 == gamma thirty-three



e
T4k

42
r43

144,892 mm [ 40

41

[ 33
39

[ )

)/
ww 806 ‘70t

144,892 x 204,908 mm
17,179,869,184 per 10
=3,364.509 km? lost due to rounding

34 == gamma thirty-four



ris
43
A

102, 454 mm [ 41

42

39
[ 40

[]

ww zeg ‘4T

3
[
)

0

N
102,454 x 144,892 mm

34,359,738,368 per [0

=3,364.509 km? lost due to rounding

35 == gamma thirty-five



r46

A
r45

72,446 mm [ 47
r43

[ 40
41

[ 33

1 &:

@R

~

[]
72,446 x 102,454 mm

68,719,476,736 per 0

=3,364.509 km? lost due to rounding

36 == gamma thirty-six



[45 L
51,227 mm [ 43 =
A
[ 41
[ 39 -
I &:
= E

51,227 x 72,446 mm
137,438,953,472 per 10
=3,364.509 km? lost due to rounding

37 == gamma thirty-seven



r48

46
r47

36,223 mm [ 44
45

42
M43

)

ww /gz‘1s

— <
[]
36,223 x 51,227 mm

274,877,906,944 per 10

=3,364.509 km? lost due to rounding

38 == gamma thirty-eight



s
r49

47
r48

25,613 mm [ 45
46

[ 43
M4

L
)
Y
SR

25,613 x 36,223 mm
549,755,813,888 per 10
=~13,321.412 km? lost due to rounding

39 = gamma thirty-nine



18,11

|1 mm

46

rs2
rse

r48
r49

47

M 44

[45

/i

L0

41

18,111 x 25,613 mm
1,099,511,627,776 per 0

=27,402.307 km2 lost due to rounding

40

gamma forty

Y

ww €19°se



rs51

49
50

12,806 mm [ 47
[48

45
46

ww TTT‘ST

12,806 x 18,111 mm

2,199,023,255,552 per 10
~47,315.562 km2 lost due to rounding

41 == gamma forty-one



rs4
r52

50
rsi

9,055 mm |_48

49

[ 406
[47

ww 9p8‘zI

:

)

rZ
3

9,055 x 12,806 mm
4,398,046,511,104 per 10
=~75,476.254 km? lost due to rounding

42 == gamma forty-two



6,403 mm [ 490 [
50
[ 47
r 4 5 [ 48
] /

6,403 x 9,055 mm
8,796,093,022,208 per 10
=~75,476.254 km? lost due to rounding

M43 =

r
2
)

/i

gamma forty-three

ww §se‘e6



rs6
54

52
rs3

4,527 mm [50

51

438
[49

ww €y ‘o

4,527 x 6,403 mm

17,592,186,044,416 per T0
=~131,797.638 km? lost due to rounding

44 == gamma forty-four



rss
53
r54

3,201 mm [51

52

49
50

ww /[gg‘y

r

fly

SO
0

3,201 x 4,527 mm
35,184,372,088,832 per 10
=211,437.464 km? lost due to rounding

45 == gamma forty-five



rss
rs6

54

55
2,263 mm [ 52

50

[ 48 -
T4
L (=

)

ww Tec‘s

I

2,263 x 3,201 mm

70,368,744,177,6064 per T0
=324,062.639 km2 lost due to rounding

46 == gamma forty-six



1,600 mm

[51

[53

rs7
rss

55

rs56

54

[52

50

48

1,600 x 2,263 mm
140,737,488,355,328 per 10

=~ 483,307.107 km? lost due to rounding

47

gamma forty-seven

ww €oz‘e



1,131 mm

[54

rs8

rs9
56
57

55

[52

53

—r U

L
L &
)

[ 49

1,131 x 1,600 mm
281,474,976,710,656 per 0

=708,487.089 km2 lost due to rounding

48

gamma forty-eight

ww Q9 ‘T



59

57
rss

800/ mm [ 55
[56

53
M54

|
O3

800 x 1,131 mm
562,949,953,421,312 per 10
=708,487.089 km2 lost due to rounding

49 == gamma forty-nine



58

59

565| mm [ 56

[ 54

57

55

3

Ul

[ 52
0
N,

ww 008

565 x 800 mm

1,125,899,906,842,624 per T0

~1,158,847.051 km? lost due to rounding

50 == gamma fifty



59

40| mm [57

[[95

58

506

53
L

54

|

-
1

ww 1G99

400 x 565 mm

2,251,799,813,685,248 per 10
~1,158,847.051 km? lost due to rounding

51 == gamma fifty-one



282 mm [58
59

[56
[57

[ 04

— [

0o

ww 100

)
via
3

[
282 x 400 mm

4,503,599,627,370,496 per T0

=~2,059,566.977 km? lost due to rounding

52 == gamma fifty-two



200 mm [ 59

57/

58

T

%

200 x 282 mm

9,007,199,254,740,992 per 10
=~2,059,566.977 km? lost due to rounding

53

r
2
)
/i

gamma fifty-three

ww 1£8¢



141 mm

50

[58

59

I

x

i

o5/

>
o

T

141 x 200 mm

18,014,398,509,481,984 per 10
=~2,059,566.977 km? lost due to rounding

54

== gamma fifty-four

ww 0ec



100 mm

[59

100 x 141 mm
36,028,797,018,963,968 per 10
=~2,059,566.977 km? lost due to rounding

55 == gamma fifty-five

ww TH#T



70 mm

70 x 100 mm
72,057,594,037,927,936 per 10
=~5,662,446.679 km? lost due to rounding

(56 == gamma fifty-six

ww oot



50 mm

59

B

o1 A
CXD Q§§§ﬂ

50 x 70 mm

144,115,188,075,855,872 per 10
=~5,662,446.679 km? lost due to rounding

57

== gamma fifty-seven

ww @/



35 mm

rEQ
IO
[59

35 x 50 mm
288,230,376,151,711,744 per T0O
=~5,662,446.679 km? lost due to rounding

58 == gamma fifty-eight

wuw s



25 x 35 mm

25 mm

59

576,460,752,303,423,488 per [0
=~5,662,446.679 km? lost due to rounding

59

gamma fifty-nine

ww q¢



